
Class 10 (NCERT) - Lecture 2

Calculus

Chapter 1 - Real Numbers 
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¥ Let 4h ends with 0 for any no. n .
4 "

= 0_

⇒ Prime factor of 4 " is5-①
Now 4N = (2×2)

"

But
By fundamental theorem Prime factors are

unique . ⇒ there is no natural noforwhich is contradiction of ① which an ends with 0
.



Let 6
"
ends with 0 for any natural no .

6
"
= -0

⇒ 6
"

has one Prime factor 5-①
6
"
= (2×3)" ¥3

By fundamental theoram Prime factors
of a No . is unique.

which is contradiction of ①



⇒ there is no natural number n for which

6h ends with 0
.


